The results of an AMCVA statistical test performed at 17:4%0n 21-JAN-2015

NOTE: thisis too few data: 2in group E This group will be ignored.

Sourceof Sumof df Mean F

Variation Squares

Between 55.38 3 1845 402

Error .62 11 4802

Total 106.0 14

The probabiity of this resullt, 2ssuming the null hypothesis, is 0.037

Group A: Mumber of items=3
6.007.009.0010.0 1.0

Mean = 8.6000

95% confidence interval for Mean: 6.489 thru 10.71
Standard Deviation = 2.07

Higih = 11.00 Low = 6.000

Median = 9.000

Average Absclute Deviation from Median = 1.80

Group B: Mumber of items=3
T.007.007.00

Mean="7.0000

95% confidence interval for Mean: 4.274 thru 9.726
Standard Deviatson = 0.00

High = 7,000 Low = 7.000

Median = 7.000

Average Abaolute Deviation from Median = 0.00

Group C: Number of tems=23
3.00 3.004.00

Mean=3.33113

95% confidence interval for Mean: 0.6073 thru 6.059
Standard Deviation =0.577

Higin = 4.000 Low = 3.000

Mediian = 3.000

Average Absolute Deviation from Median = 0.333

Geoup D: Number of itemsa=4
400700800120

Mean=7.7500

95% confidence interval for Mean: 5. 380 thru 10.11
Standard Deviation = 3.30

Higih = 12,00 Low = 4.000

Median = 7.500

Average Abaolute Deviation from Median = 2.25

(See Suppl. Figures 3, 4) [Kirkman 1996]




